Sr

10

Questions

What peninsula is connected to the mainland of asia by the isthmus of kra?

Which one of the following statements explains that mining is an increasing cost' economic
activity?

The hunting and gathering economy can support of

The transition zone between two Ecosystem is called

Shaba province in the Democratic Republic of the Congo is known for which of the following
reserves?

Which of these statement given above are correct?

What is the name of the peninsula in northeastern australia which is positioned next to the
great barrier reef, and is bordered by the gulf of carpentaria?

Which one of the following areas is dominant in hunting and gathering?

What is the name of the peninsula in the eastern united statea, which contains parts of
maryland, delaware, and virginia?

Which one of the following continents has the lowest birth and death rates?

Answers Choice

A. malay&nbsp;
B. sumatra

C. singapore
D. kamchatka

A. Mine workers enhance their wages
B. Best and most easily available
mineral deposits are mined first

C. Mining techniques becomes
expensive

D. Mining royalties increase

. 1 person per sq.km
. 3 person per sq.km
. 5 persons per sq.km
. 7 persons per sg.km
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. Biome

. Biotope
. Ecotone
. Sere

. Bauxite
. Iron ore
. Tungsten
. Copper
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. Germany and America are the two
largest producers of wind-power

B. America has nuclear energy
generation capacity of around
1,00,000 MW

C. America has more nuclear
reactors than any other country in
the world

D. All of these

. eyre&nbsp;

. cape york&nbsp;

. arnhem land&nbsp;
. canberra

A

B

C

D

A. Hot desert

B. Cold desert

C. Tropical forest
D. Temperate grassland
A
B
C
D
A
B

. lookout

. kent

. delmarva
. may

. Europe

. Australia
C. North America
D. South America



